Consumer Math 8.3

#19, second answer is the savings for the second year by itself (not subtracting the loss from year one or figuring the total cost for year 1 and 2)

#20, find the cost for the number of whole 20-lb. containers needed and subtract that from the cost for the number of 1-lb. containers needed

#21, the answer is “no,” but you must add the correct capacity to the nearest tenth of a cubic ft (ft3) 

#22, answer must be rounded to the next higher cent to fully cover costs

#27, nearest tenth %
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